Question Answer Marks | AOs Guidance
) . [ sinx i
(@) 2sinX| —— |=C0SX+5 M1 3.1a | Uses tan X =sin X/ cos x
COS X
2sin” x = cos® X +5c0s x
2(1-cos *x) = cos’ x+5c0s X M1 | 3.1a |Uses sin® x =1—cos’ X
2—2co0s® X =cos® Xx+5c0s x
Must show sufficient
3cos® x+5cosx—2=0 Al 2.1 | AG - correct working throughout working to justify the
given answer
3]
(ii) (3c0s20-1)(cos20+2)=0 M1 1.1a | Attempt to solve 3-term quadratic
c0s 26 = % (and cos20=-2) Al 1.1 | Condone cosx = %
1 1 i i —
0 = Larccos| = M1 1 Correct order of operation to find one (20 )70.52877...,
2 3 value of & (or both values of 26 correct) | ogg 471 .
0=35.3 Al 1.1 | One correct value to the nearest integer
or better
0 =144.7° Al 1.1 |Cao (35.3and 144.7) Any additional values in

[5]
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